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2 "errCode”: "0000",

8 "errisg”: "OK",

4 “resulttr [

B "bountyhum” s "113",

] “landinglr": "http://bountya. fo/api/api . aso?hum=18ani Tyoe=BOUNTY &relr | =Bount yMum 301 1 3%260r of ect Mun%3D33",
7 "bountyTitle": "Huzika Huobi &HZ OlfIEL",
] "hountyType": "ETC",

g "slate": "Z018-11-12",

10 "elate": "Z018-12-31",

1 "budget "+ "&O0000",

12 "shareType": "EQUAL",

13 "ticker": "o0",

14 "tickerUnit": "MZK",

16 "won": "3200",

16 "maxCount”: "10000",

17 "outLinkyM": "Y",

18 "outLink": "http://nf.kakao, con/ _obthi"
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